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TEXAS A&M UNIVERSITY Math 151 - Fall 2022
-'LT! Math Learning Center “IIANDS ON. GRADES UP”

WELEK-IN-REVIEW 3
(Trvrrs (2.2), Tt Laws (2.3) ann ConTINUITY (2.5))

Problem 1. For the function g{»} whose graph is given below, state the value of the given

quantity, if it exists, : J"’). :
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Problem 3. Given thar lim f{x] — =3, limg(z} — 0 and lim h{x) — &,
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Problem 4. Ev alu]te the fllowing limrs if they emst
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Problem 5. What is wrong with the following equation? C?C)
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Problem 6. Use the Sgueeze theorem to show that hm vt +— w2 gin } -
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Problern 7. Given the plecewise function A(x) below, evaluate the supequent Bnis, if they
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Troblem 8. Find the values of ¢ and o that make the function fiz) f.'.ontinug}w everywlere,
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Problem 9. Which of the following functions f(x) has ¢ removable discontinnity
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Praoblem 11. Ai what values of @ is the bllowing picee-wise lunction f{r) disconlinons?
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Problem 11. Al what values of # i3 the [ollowing picce-wise unction f{r)
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Problem 12, Test the following Mnelions for continuiiy. 10 the unction is discontinuons for

soine value @ = o, cxplain wliy "
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